
3. A sphere has a volume of 80 cm3. Find the radius of the sphere.

4. Find the ‘exact’ volume of each solid, leaving your answers in terms of p.

a

4 cm

16 cm

3 cm

15 cm

b 9 cm

25 cm

(hemisphere on a cylinder)

5. A bowl is in the shape of a hemisphere with
diameter 18 cm. Water is poured into the bowl
at a rate of 12 cm3/s. How long will it
take to fill the bowl completely?

6. A pyramid has a square base of side length 8 cm and a perpendicular
height of 17 cm. The pyramid has the same volume as a cone of base
radius 6·5 cm. Find the perpendicular height of the cone.

7. Ametal cylinder has diameter 4·8 cm and a height of 8·3 cm. 75 identical
cylinders aremelted down tomake a single sphere. Calculate the diameter
of the sphere.

TASK 3.9

Remember sphere cylinder cone
surface area=4pr2 curved surface area=2prh curved surface area=prl

where l is the slant height

In this task, give answers to 3 significant figures where necessary.

1. Find the curved surface area of each solid.
a

4 cm

19 cm

b

9 cm

c

23 cm

14 cm
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2. Find the total surface area of this cone,

leaving your answer in terms of p.

12 cm

10 cm

3. A sphere has a surface are of 480 cm2. Calculate its diameter.

4. The curved surface area of a hemisphere is 72p cm2. What is the total
surface area of the hemisphere?

5. A cone is attached to a cylinder of diameter
15 cm as shown. The perpendicular heights
of the cylinder and the cone are both equal
to the diameter of the cylinder. Find the
total surface area of the combined solid.

15 cm

6. A cylinder has a radius of 2 cm and a height of 10 cm. A cone has a radius
of 3 cm. The total surface area of the cone is equal to the total surface area
of the cylinder. Show that the perpendicular height of the cone is 4

ffiffiffiffiffi
10
p

cm.

TASK 3.10

Use M
D V

to help you work out the questions below.

1. A solid weighs 450 g and has a volume of 50 cm3. Find the density of this
solid.

2. A liquid has a density of 2 g/cm2. How much does the liquid weigh if

its volume is 240 cm3?

3. A metal bar has a density of 12 g/cm3 and a mass of 360 g. Find the
volume of the metal bar.

4. Copy and complete this table. density
(g/cm3) mass (g)

volume
(cm3)

7 90

240 60

8 152

42 0·5

13 585

1·5 140
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